GENERAL NOTES: = ANCHOR REQUIREMENTS TABLE T
1. THESE CURTAIN WALL SYSTERIS HAVE BEEN TESTED, ANALYZED & APPROVED FOR DESIGN PRESSURES - e
NOT TO EXCEED THOSE SHOWNEIN THE "ALLOWABLE DESIGN PRESSURE TABLE(S). (SINGLE & MULTI-SPAN REINFORCED CURTAIN WALLS) ims__| 0319/13
2. OPENINGS BUCKING & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & INSTALLED TO SPENING TYPE FRAWE,/CLIP 10 OPENING TR
| TRANSFER WIND LOADS TO THE STRUCTURE. (SUBSTRATE) FASTENER TYPE EMBED | EDGE DIST.|| %
3. ALL HARDWARE & FASTENERS SHALL BE IN ACCORDANCE WITH THESE DRAWINGS & SHALL NOT VARY ,
UNLESS SPECIFICALLY MENTIONED ON THE DRAWINGS. SPECIFIED ANCHOR EMBED TO BASE MATERIAL F—PERIMETER ANCHOR SCREWS N
SHALL BE BEYOND WALL FINISH OR STUCCO. - il
4. THE DETAILS & SPECIFICATIONS SHOWN HEREIN REPRESENT THE PRODUCTS TESTED & PROPOSED MIN. 16 GA. SO KSI METAL STUD|  1/4-14 GR. 5 SELF TAP/DRILL SCREW FULL 1/2
FOR WATER. AR, IMPACT, CYCLIC & UNIFORM STATIC AIR PRESSURE TESTING IN CONFORMANCE WITH MIN. 2X6 WOOD FRAME OR 1/4" DA GR. 5 COARSE THREAD AN R
ASTM E330, E263, E331, E1886 & E1996 FOR LARGE MISSLE IMPACT CURTAIN WALL SYSTES, BUCK (MIN. GR. 2 & G=0.55) SoREm /47 ‘ :
%EQUTI};?AEEN%R-(r)pl:'lNTI-\:\II-IAI_IIIIITSEYR?\JTAEThIA()SN;_A\:BEUIEEI%NG %Eg[l)%N%%cl)h.' ACCOROANCE Wt AND MEET MIN. 1/8” THK A36 STEEL |1/4—14 OR 20 GR. 5 SELF TAP/DRILL SCREW| FULL 1727 ||z
6. MPACT SHUTTERS ARE NOT REQURED WITH THIS CURTAN WAL SYSTEM. “MIN. 3000 PSI CONCRETE (1) 3/8” CONCRETE SCREW ANCHOR 21727 21/2" ||@
7. ALL ANCHORS SECURING CURTAIN WALL FRAME TO PRESSURE TREATED _ , ‘ 090 C - : ——l
SHALL BE CAPABLE OF RESISTING CORROSION CAUSED BY THE PRESSURE TREATING CHEMICALS IN THE - - ' MIF\I'A\IIN.CZSOO gg, g’éh%%HWgH (1) 3/8" CONCRETE SCREW ANCHOR 21/2" | 21/2". §
WOOD. : : L . , ,
8. DETERMINE THE POSITIVE & NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING THESE IMAXIMUM ALLOWABLE _F RAMING T & F—ANCHOR SCREWS,/BOLTS (VERTICAL MEMBER ENDS) &
DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND 'MEMBER DEFLECTION , ! A ‘ ! .
LOAD CALCULATIONS IN ACCORDANCE WITH THE INTERNATIONAL BUILDING CODE, A DIRECTIONALITY FACTOR 1/4"-120 OR 14 430 SS HCMS OR GR. 5 CS| i, W E
OF KD = 0.85 MAY BE APPLIED PER THE ASCE—7 STANDARD. L/18O (SPAN OF MEMBER THREAD FORMING SCREW :
9. NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE CERTIFICATION OF THIS PRODUCT. _ 7% GRS 05 OR 410 55 30T W Lock , G
WIND LOAD DURATION FACTOR CD = 1.6 WAS USED FOR WOOD SCREW ANALYSIS ONLY. v DIVIDED BY 180) - 5 05 OR 410 S5 8 OCK | FyLL 3/4" geo
10. MATERIALS, INCLUDING BUT NOT LIMITED TO STEEL SCREWS, THAT COME INTO CONTACT WITH OTHER MIN. 1/8" THK A36 STEEL _ ER & NUT _ 253
DISSIMILAR MATERIALS SHALL BE SEPARATED OR COATED AS REQUIRED TO AVOID CORROSION OF EITHER NOTE: THIS IS THE MAXIMUM 17213 300 55 HOWS OR GR. 5 05 THREAD - 881
MATERIAL. . o ALLOWABLE DEFLECTION AS - " FORMING SCREW _ FULL | 1 Z. 8
11, THERE SHALL BE NO LIMIT TO THE NUMBER OF HORIZONTAL & VERTICAL PANELS USED FOR ANY RESTRICTED BY THE' BUILDING CODE. i . | - _ Egs
JOB PROVIDING ALL RESTRICTIONS ARE MET PER THE ELEVATIONS. IF JOB CONDITIONS REQUIRE LESS - 1/2” GR. 5 CS OR 410 SS BOLT WITH LOCK | i} " 322
12. T0 THE BEST OF OUR KNOWLEDGE, THE CURTAIN WALL SYSTEMS SHOWN HEREIN ARE QUALITT;’ Bt bRt THE 05, CONDITIONS | WASHER & NUT 82,43
ASSURED BY AN APPROVED CERTIFICATION/QA ENTITY & SHALL BE LABELED IN ACCORDANCE WITH : - : . _ _ eED
APPLICABLE STANDARDS. THESE DRAWINGS SHOW ALL APPLICABLE ELEVATION, COMBINATION, INSTALLATION SHALL CONTROL. @ MIN. 3000 _PS| CONCRET E (1) 1/2” CONCRETE SCREW ANCHOR 3 _1/2" |SEE DETAILS 5855
% COMPARATIVE ANALYSIS CONDITIONS AS DETERMINED THROUGH TESTING & ENGINEERING RATIONAL (1) 1/2” CONCRETE SCREWS SHALL BE SIMPSON STRONG—TIE TITAN HD SCREW ANCHOR (GALVANIZED Zng
ANALYSIS. CURTAIN WALL ASSEMBLY SHALL BE IN ACCORDANCE WITH THESE DRAWINGS, THE STEEL). +Z89
MANUFACTURER'S QUALITY ASSURANCE SPECIFICATIONS & TESTING REPORTS. ' o ) 8
13, CERTIICATON OF THESE CURTAN WALL SYSTEMS SHALL BE CONSIDERED VoID riiRTTTAEEL TA%ER . . _ (2) MINIMUM CONCRETE SLAB THICKNESS FOR PLACEMENT OF "T” & “F” ANCHORS IS 5 1/2”. . 5
INSTALLED WITHOUT A BUILDING PERMIT FROM THE APPLICABLE LOCAL B , : - , : _ ~E
ARE INSTALLED BY ANYONE OTHER THAN A LICENSED CONTRACTOR EXPERIENCED WITH CURTAIN WALL MAXIMUM ALLOWABLE DESIGN PRESSURE DRAWING USE INSTRUCTIONS: 3 iz
INSTALLATIONS. (MULTI & SINGLE SPAN CURTAIN WALL) | 1" DEreRMINE IF THE WALL SYSTEM IS TO BE A MULTI-SPAN OR SINGLE g
CORNER _CONSTRUCTION: : : , +60 / -0 PSF SPAN- CONDITION.  IF MULTI-SPAN, ALL CONDITIONS SHOWN ON SHEETS 2 & | | —
STANDARD FRAMING AT TOP & BOTTOM HORIZONTAL MEMBERS: VERTICAL MEMBERS RUN T IVE STATED PRESSURES ARE THE VIAGHUW ALLOVED ON 3 SHALL APPLY. IF A SINGLE SPAN, ALL CONDITIONS SHOWN ON SHEET 4 2 3
THROUGH WHILE THE HORIZONTAL MEMBERS ARE SQUARE CUT, BUTTED AND MECHANICALLY Qrg gagwREG&rzC%LEr:issE ool»;_ »xr:g VL%EEJ()DBESISC‘;DSCIIDF;ES?B}SQISNOI\ITE;\L#TS gHAL(l:_OQl;ﬁ_II_gN S MAY NOT BE MIXED BETWEEN W , | 2
FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK (ITEM #12). THE SHEAR BLOCK IS | BHO e O SCOE O THS APPROVAL.  SEE 2. CONDITIONS, MAY NOT B MIXED BETWEEN | rstllb E??YESDTE\'/:/AITLY,IT\E? L z| o7
MECHANICALLY FASTENED TO THE VERTICAL FRAME MEMBER WITH 2 NO. 12 X 1 7/8" FHTF 'MULTI-SPAN OR SINGLE SPAN WALL NOTES" ON SHEETS 2 & 4 3. LLOWABLE GLASS PRESSUS | 2L .
SCREWS. THE HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 NO. FOR ACTUAL JOB DESIGN CONDITIONS. ONS A A L IF LESS THAN THOSE ALLOWABLE % W =3
12 X 7/8" PHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. : PRESSURES STATED FOR THE APPLICABLE FRAMING SYSTEM. 3| 2z&_3
STANDARD FRAMING AT INTERMEDIATE HORIZONTAL MEMBERS: HORIZONTAL MEMBERS ARE SQUARE ‘ANCHOR LEGEND FREE SPANNING JAMB PERMETER SEALANT NOTE CABLE To o
CUT, BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL FRAME MEMBERS VIA A SHEAR eHoR NCHOR RTTITE MB—EJJJMLQ—_——RE S X — DTS o | DBk
BLOCK (ITEM #13). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO THE ‘VERTICAL -FRAME UBOL DERTON LLLL N O AL ERZE SPAN N RERVEILS ZRAME MIMATERL AN
MEMBER WITH 2 NO. 12 X 1 7/8” FHTF SCREWS. THE INTERMEDIATE HORIZONTAL FRAME e R e AOE SOACE BETWEEN IS ERAE HENBERe & A N B e
MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 NO. 12 X 7/8" FHTF SCREWS. F§ |STANDARD WIND LOAD ANCHOR THE OPENING. SUBSIRATE OR FINISHES SHALL BE SPEGIFIED Bv XN Nl BT
Lt o’ L 40 R 7 - S8mI
CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. &5 [CORNER WIND LOAD ANCHOR FRCISE LS i I L
TYPICAL 90 DEGREE CORNER FRAMING: VERTICAL CORNER MEMBERS RUN THROUGH WHILE THE : , THE ENGINEER OR ARCHITECT OF RECORD FOR EACH JOB BUT 74T iy ] g s
HORIZONTAL MEMBERS ARE MITER CUT, BUTTED AND MECHANICALLY FASTENED TO THE VERTICAL A |STANDARD DEAD LOAD ANCHOR SHALL NOT BE LESS THAN 1/2" NOR GREATER THAN 1 3/8".  Zi% iTr [EZResE
MEMBERS VIA A SHEAR BLOCK (ITEM #14). THE SHEAR BLOCK IS MECHANICALLY FASTENED TO & |CORNER DEAD LOAD ANCHOR EVHGEN CONSIDERING TYPE, DEPTH & JOINT SPAN OF SEALANT, TH’E’% I~ SR A N
THE VERTICAL CORNER FRAME MEMBERS WITH 3 NO. 12 X 7/16" PHTF SCREWS. THE : NGINEER/ARCHITECT SHALL TAKE INTO CONSIDERATION THE 20 N ;3: I :q% %
HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR BLOCK WITH 2 NO. 12 X 1/2" u" STANDARD T—ANCHOR DEFLECTION OF THE JAMB MEMBER THAT WOULD OCCUR WHILE %u} Z P2 Eix8 ©
FHTF SCREWS. CORNERS ARE SEALED WITH DOW 795 SILICONE SEALANT. &  [CORNER T—ANCHOR SUPPORTING THE JOB REQUIRED DESIGN WIND PRESSURE. ALSO vz, iE = .
90 DEGREE CORNER FRAMING AT SPLICE JOINT LOCATIONS: VERTICAL CORNER MEMBERS RUN TO BE CONSIDERED SHALL BE THE MATERIALS & SURFACES T0  fpwee [ Z ! Nrow u
THROUGH WHILE THE HORIZONTAL MEMBERS ARE MITER CUT, BUTTED AND MECHANICALLY A |F-ANCHOR (FRAME MEMBER ENDS)| WHICH THE SEALANT WILL BE APPLIED. _ , 0 P E R o
- & LR . | o
FASTENED TO THE VERTICAL MEMBERS VIA A SHEAR BLOCK (ITEM #16). THE SHEAR BLOCK IS [SEE SHEETS 5-9 FOR DETAILS OF VAT OF THIS PRODUCT 1S SSED G APPLICABLE STAVDRDS AD/0R ¢ N £3
'MECHANICALLY FASTENED TO THE VER)TICAL CORNER FRAME MEMBEERSB ggHAgEN;%T A1_ CZH éD 7T/O16 ANCHORS : . INFORUATION & RESULTS FROW APPLIABLE TEST REPORTS.  THE BULDING CoDE_ M | 2 b2
PHTF SCREWS (2 PER SHEAR BLOCK). THE HORIZONTAL FRAME MEM : THE EVALUATION. IN THE EVENT OF CODE VERSION CHANGES/UPDATES OR IN THE L 8%
THE SHEAR 0LOCK WTH 2 NO. 124 1/2° FF SOREVS (2 PER SHEAR BLOCK). CORNERS [ VERTICAL MEMBER REINFORCEMENT LEGEND| | ST of Sioul o™ o ST Y o - g
A B .. : u
STANDARD FRAMING AT SPLICE JOINT LOCATIONS: VERTICAL MEMBERS RUN THROUGH WHILE THE = REINFORCEMENT PART NUMBER 29 EVALUATION ENGINEER OF RECORD THAT EVERYTHING SPECFIED HERE-I IS CURRENT © NiN
HORIZONTAL MEMBERS ARE SQUARE CUT, BUTTED AND MECHANICALLY FASTENED TO THE _ REINFORCEMENT PART NUMBER 29 & 30 . : N
VERTICAL MEMBERS VIA A SHEAR BLOCK (ITEM #15). THE SHEAR BLOCK IS MECHANICALLY = - 3
FASTENED TO THE VERTICAL CORNER FRAME MEMBERS WITH 2 NO. 12 X 1 7/8" PHTF SCREWS = REINFORCEMENT PART NUMBER 31 NOTE: INFORMATION ON THIS SHEET BT
(2 PER SHEAR BLOCK). THE HORIZONTAL FRAME MEMBERS ARE ATTACHED TO THE SHEAR SEE PARTS DRAWINGS & PARTS LIST FOR APPLICABLE NOTE: 1791T
" : APPLIES TO ALL ELEVATIONS SHEET NO
BLOCK WITH 2 NO. 12 X 1/2” FHTF SCREWS (2 PER SHEAR BLOCK). CORNERS ARE SEALED REINFORCEMENT MEMBERS & THEIR sDETAIL. i -
WITH DOW 795 SILICONE SEALANT. i 1 o 16




NOTES APPLICABLE TO MULTI-SPAN CURTAIN WALLS DRAWN BY:  |CHECKED BY:
1. WITH EACH APPLICABLE JOB, SHOP DRAWINGS SHALL BE PREPARED AND CERTIFIED BY A LICENSED ENGINEER EXPERIENCED WITH CURTAIN WALL DESIGN. A 7 WS, M5,
2. JQIEEIEESDPONSIBLEHEN%NEER ISHAI_IIIATDESIGNNTHE WALL SYSTEM SEPARATELY FOR EACH JOB & CONFIRM THAT ALL CONDITIONS STATED HERE—IN HAVE BEEN POt |M05mes
CONSID AND ADHERED TO Tl DESIGN. : .
3. IN HIS/HER DESIGN, THE RESPONSIBLE ENGINEER SHALL VERIFY THE INTEGRITY OF ALL CONNECTIONS AND FRAMING MEMBERS & SHALL TAKE'FULL RESPONSIBILITY S w
FOR THE INTEGRITY OF THE SYSTEM DESIGN AS A WHOLE WHILE NOT ALLOWING THE CONDITIONS STATED HERE—IN TO BE EXCEEDED. ALLOWABLE SUPPORT REACTIONS g
AND VERTICAL FRAMING MEMBER BENDING MOMENTS SHALL NOT EXCEED THOSE STATED IN THE TABLES ON THIS SHEET, REGARDLESS OF JOB DESIGN. e
4, THE CURTAIN WALL DESIGN ENGINEER SHALL CONSIDER ALL APPLICABLE REACTION LOADS IN HIS/HER DESIGN WHILE NOT ALLOWING THE REACTIONS RESULTING FROM
WIND LOADS TO EXCEED THOSE SPECIFIED IN THE ANCHOR REACTION LOAD TABLE. ) %
5, THE WORSE CASE OF THE CONDITIONS SPECIFIED IN THIS PRODUCT APPROVAL DRAWING AND THOSE DETERMINED BY THE INDIVIDUAL JOB ENGINEER'S ANALYSIS &
DESIGN SHALL CONTROL AS APPLICABLE FOR THE ACTUAL. JOB. . : ) ) .
6. REGARDLESS OF JOB DETERMINED MEMBER STRESS & DEFLECTION CONDITIONS, THE FOLLOWING SHALL APPLY: ) . P
A REINFORCEMENT TYPE R1 MUST BE PLACED BETWEEN SUPPORTS IN ALL:SIDE JAMB & INTERMEDIATE VERTICAL FRAME MEMBERS THAT SPAN OVER 120" BETWEEN 2
THEIR SUPPORTS (NOT REQUIRED IF THE UNSUPPORTED SPAN IS 120" OR LESS & THE JOB DESIGN ALLOWS FOR NO REINFORCEMENT). ] : . . ,%:
B. REINFORCEMENT TYPE- R3 MUST BE PLACED BETWEEN SUPPORTS IN ALL CORNER VERTICAL FRAME MEMBERS THAT SPAN OVER 120" BEJWEEN THEIR SUPPORTS N . : I
(NOT REQUIRED IF THE UNSUPPORTED SPAN IS 120" OR LESS & THE JOB DESIGN 'ALLOWS FOR NO REINFORCEMENT). s : : : R : B &
7. REINFORCEMENT IS NOT REQUIRED TO BE CONTINUOUS TOP TO BOTTOM WITHIN THE VERTICAL FRAMING MEMBERS. REINFORCEMENT MAY.BE NON-—CONTINUOUS, AS z
DETERMINED FOR EACH JOB, PROVIDING IT MEETS THE MINIMUM GUIDELINES OF THIS DRAWING. . e . L . %
B. THIS. ELEVATION SHOWS THE 1600 CURTAIN WALL SYSTEM 2 IN A MULTI-STORY APPLICATION. THE NUMBER OF FLOORS WITH WHICH THIS SYSTEM MAY BE USED . o : I
RANGE FROM TWO(2) TO UNLIMITED WITH THE ONLY RESTRICTIONS BEING THE MAXIMUM SPAN BETWEEN FLOORS/SUPPORTS AND THE MAXIMUM D.L.O. SIZES.SPECIFIED. e ’ : : B [\ &
g, SPLICING OF VERTICAL FRAME MEMBERS MAY OCCUR BETWEEN SUPPORTS AS REQUIRED. LOCATION OF THOSE SPLICES "SHALL BE WHERE A BENDING MOMENT OF : : B 3
NEAR ZERO(0) EXISTS IN THE MEMBER. =
10. THE EL(EV?\TION HERE—IN SHOWS F & T—ANCHORS AT THE BASE OF THE WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF A WALL IN LIEU- OF s
A _ .
THE WIND/DEAD LOAD ANCHORS SHOWN PROVIDING THE SPAN BETWEEN THE F OR T-ANCHOR AND THE BELOW WIND/DEAD LOAD ANCHORS DOES NOT EXCEED 167 , , , ‘ - PLAN_VIEW: -
3/4" & THEY ARE INSTALLED THE SAME AS SHOWN AT THE_'BASE. o T . L N : N O«
_ : : , MULTI—SPAN CURTAIN WALL Zeg
SCALE: 1/4" = 1'=0" =821
SEE SHEET 3 FOR WALL &5 <$
ELEVATIONS 'A-A" & “B~B" 250
: . 5 , OXyiv
584
(1) MAXIMUM ALLOWABLE BENDING MOMENTS IN %ffért
~ VERTICAL FRAMING MEMBERS ANCHOR REACTION LOAD , z gb‘% S
(FOR USE WITH MULTI-SPAN CURTAIN WALL) CAPACITY R g
(v
2 (3) MAXIMUM (MULTI=SPAN CURTAIN WALL) =y
- ALLOWABLE s s
VERTICAL MEMBER ENDING. MOMENT ANCHOR ANCHOR (1) MAXIMUM S8
BENDI M SYMBOL DESCRIPTION ALLOWABLE = I
(POS & NEG) REACTION LOAD| ™ 3 =)
| SIDE JAMB MEMBER WITH NO REINFORCEMENT 33816 IN-LB B |SIDE JAMB WIND LOAD ANCHOR 2297 LBS 2| 4 §
SIDE JAMB MEMBER WITH REINFORCEMENT "R1” 33816 IN-LB A [SIDE JAMB DEAD LOAD ANCHOR 2297 LBS Z CZDI ;
SIDE JAMB MEMBER WITH REINFORCEMENT "R2” | 45801 IN-LB FH |INTERMEDIATE WIND LOAD ANCHOR | _ 4417 LBS B 8.3
INTERMEDIATE MEMBER WITH NO REINFORCEMENT | 39525 IN-LB D [CORNER WIND LOAD ANCHOR (2) 3248 LBS o 225.8
[ INTERMEDIATE MEMBER WITH REINFORCEMENT "R1”| 65028 IN-LB A |INTERMEDIATE DEAD LOAD ANCHOR | _ 4417 LS o 58 T3
INTERMEDIATE MEMBER WITH REINFORCEMENT "R2”| 87938 IN-LB ﬁ CORNER DEAD LOAD ANCHOR (2) 3248 8BS ‘ 2 [ Sl
CORNER MEMBER WITH NO REINFORCEMENT (4) 42383 IN-LB STANDARD T—ANCHOR : 2096 LBS % WX 33y
- @ € |CORNER T—ANCHOR (2) 677 LBS I ke
CORNER MEMBER WITH REINFORCEMENT “R3 47823 IN-LB o| Bs8te
TS, A |F-ANCHOR (FRAME MEMBER ENDS)| 1092 LBS 43 ’ 'z "3
JAASA RIS = 3_1
| (1) THE VALUES IS THIS TABLE ARE APPLICABLE TO THE JOB (1) MAXIMUM ALLOWABLE REACTION LOADS SHOWN | I N
REQUIRED DESIGN OF THE MULTI—SPAN WALL SYSTEM & NEED NOT | |CONSIDER REACTIONS FROM WIND LOADS ONLY & APPLY 1 , | s 322
BE CONSIDERED WITH SINGLE SPAN WALLS. ALL SINGLE SPAN TO BOTH POSITIVE & NEGATIVE WIND DIRECTIONS. IN . - « 2 |5 ©
MEMBER & REINFORCEMENT CONDITIONS SHALL BE AS SPECIFICALLY éggllﬂgg? TgFW}_\')ggOE%ADF%RTP;ECSUEFT{%C\)ITELY_VFALSLHADLELSIEFSO 0 ;‘fb\“
SPECIFIED IN THE SINGLE SPAN ELEVATIONS. : SR .l
(5)E FOIRE Dg\;CRIPETIONS OF REINFORCEMENTS, SEE THE "VERTICAL CONSIDER OTHER APPLICABLE LOADS SUCH AS, BUT - - Sy i R <
" ' : POSSIBLY NOT LIMITED TO, DEAD LOADS FROM THE : o RN 28
) . . a 2 ~F
: : : : S : o Wi e b
| (5 AL \;\;;QLSEELL%F%ABB&S?OSQN;HE WORSE CASE OF TESTED (2) REACTION LOAD SHOWN FOR THE CORNER ANCHORS . L (Ri5Wwie |8 £
: : IS THE RESULTANT LOAD IN THE PLANE OF THE MULLION . ‘ ASE Pyl d zigg |k 7z
. : — = .
(4) MOMENT VALUE SHOWN FOR THE CORNER MULLION IS DUE TO (LOAD FROM BOTH SIDES COMBINED INTO A RESULTANT AR 2 SRR ESS A | gy
): NOTE: INFORMATION ON (oS 1z L0000 |8 o
’ THIS SHEET APPLIES TO AV rLl el &
BOTH SIDES COMBINED INTO A RESULTANT). FOR SINGLE SIDE SHALL NOT EXCEED 2297 LB. FROM EITHER SIDE FOR g, T Bk &
LOAD (LOAD VECTOR 45 DEGREES TO MULLION ANGLE), IN THE THE WIND & DEAD LOAD ANCHORS NOR 479 LBS FROM ELEVATIONS ON SHEET 3 : G ® i 5 s \5\
DIRECTION OF THE SIDE LOAD, THE ALLOWABLE MOMENT SHALL NOT EITHER SIDE FOR THE T—ANCHOR. ONLY 3 ‘f L A NN A
'EXCEED 29970 IN—-LB WHEN NON—REINFORCED NOR 33816 IN-LB. . LORRS 99T
WHEN REINFORCED. , Ry
' 2 o 16




H CHECKED BY:

W.W.S.

SEE SPLICE/

DETAILS ON

EXTERIOR ELEVATION VIEW "A—A"

MULTI—SPAN CURTAIN WALL
SCALE: 1/4" = 1’0"

SPANNING SIDE JAMB SHOWN.

CONTINUOUSLY SUPPORTED SIDE

© JAMB ALSO APPLIES PER

ALTERNATE SIDE JAMB CONDITION

ELEVATION ON THIS SHEET.

VARIES WITH NUMBER OF PANELS |—
57 1/2 57 1/2"
—  MAX. MAX.
D.L.0. D.L.O.
2 1/2" ‘
iy N
|~ 1 Sk
I h N
E“ZI d 1 ¥ CENTER
: | . OF
_ SUPPORT
[ | ]l
2 AT
III ;4:]
(F3 l RE—yli 2. 2=
H AS REQUREDN) 52 59
lll PER . ,l” 8_'5 3:%.3’
MULTI-SPAN S8 %
I NOTES ) g 0P
: zZLr =Z=Z
_ ' W Ez & i
1 i E& £
R i~ B BE
AS REQUIRED | oy o
PER | | xh %7
MULTI—SPAN |l | =2 =5
NOTES |!1 . :‘68 E =
4 K4 T
o
ag=- R N CENTER
[ or [ OF
\% / SUPPORT
|
f 1
% ]
FOR END | 1] .
e
DETAILS, SEE MemBer | |l :
SHEETS 5, 6, |\ Ol s
7, 8& 9 lNTERMEDlATE —
FRAME !
NPV MEMBER | ||
FRAME | I
MEMBER %| ”
L1l

MAX
D.LO

57 1/2" 57 1/2” )

. — MAX. MAX.  ———2 1/2
LO. D.L.O. D.LO.
2 1/2" — 2 1/2"

VARIES WITH NUMBER OF PANELS
57 1/2"

——r — — — —— —

i

o]
A\

L

v—
X

PER

——

}

FTSNOTES

—— . —_ —p——

AS REQUIRED
MULTI-SPAN [l

T e M, e s . |

==

A\

JAMB
FRAME
MEMBER

83 1/2" MAX. D.L.O. —]

EXTERIOR ELEVATION VIEW "B—B”;

MULTI=SPAN CURTAIN WALL

SCALE: 1/4” = 1'=0"
SPANNING SIDE JAMB SHOWN.
CONTINUOUSLY SUPPORTED SIDE
JAMB ALSO APPLIES PER
ALTERNATE SIDE JAMB CONDITION
ELEVATION ON THIS SHEET.

INTERMEDIATE
FRAME
MEMBER

A\

—— 93 1/2” MAX. D.L.O. —]

SIDE JAMB
F—PERIMETER

~ ANCHOR SCREWS

WHERE SHOWN.
SEE "ANCHOR
REQUIREMENTS
TABLE™ ON SHEET
1 FOR

- ALTERNATE MULTI—

SPAN SIDE JAMB = <~%

CONDITION: CONTINUQUSLY SUPPORT] EB\;»%

SCALE: 1/4” =

REQUIREMENTS.
18"
MAX. O.C.
(TYP.)
41) _J
. \\\\'&\
‘k : e ity
o
Q/ : % :
SO
T
T2
1z
PO U8
M & N
e (C .
: < :
HES :

DATE:
03/19/13

REVISION DESCRIPTION

NO.

JOB INFORMATION:

770-449-5555

KAWNEER COMPANY, INC.
555 GUTHRIDGE COURT
NORCROSS, GA 30092

1600 SYSTEM 2 CURTAIN WALL (L.M.1L)

CONSULTANTS

DRAWING TITLE

INEERING &
7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744—3424

W. W. SCHAEFER ENG
CONSULTING, P.A. (REG. NO. F—14980)

Q,w'
R4
013

Yoy

L
oy
. e
oy

N

UG

.
1

113497
CENSED.
'ONA

CERTIFICATION

Y
ALY

)

WARRTEI}I?/Q, SCHAEFER, P.E
< _PE NO. 113497

/e
)

%

o

g
O

DRAWING NO. [REV.

17911

"0‘.

\‘V..‘—

SHEET NO.

of 18




NOTES APPLICABLE TO SINGLE—SPAN CURTAIN WALLS C= e
1, ALL SPANNING VERTICAL MEMBERS IN A SINGLE SPAN CURTAIN WALL ' PLOT: DATE:
SHALL BE REINFORCED WITH REINFORCEMENT R2 IN SIDE JAMB & . f ’ 1=48 03/19/13
INTERMEDIATE MEMBERS & WITH R3 IN CORNER FRAME MEMBERS. :
REINFORCEMENT SHALL RUN CONTINUOUS IN ALL SPANNING VERTICAL L
MEMBERS & EXTEND TO WITHIN 18" OF THE ENDS. . . 3
2, SIDE JAMB MEMBERS DO NOT REQUIRE REINFORCEMENT WHEN THEY X
ARE SUPPORTED WITH A CONTINUOUS SIDE JAMB F~PERIMETER ANCHOR. . )
3. THERE IS NO'LIMIT TO THE NUMBER OF SECTIONS HORIZONTALLY &l
PROVIDING THE OPENING IS DESIGNED TO' SUPPORT THE LOADS .
TRANSFERRED FROM THE WALL SYSTEM. )
4 THE ELEVATION HERE-IN SHOWS F & T—ANCHORS AT THE BASE OF . F3
THE WALL ONLY. THESE ANCHORS MAY ALSO BE USED AT THE TOP OF Jm . - o £
A WALL IN LIEU OF THE WIND LOAD ANCHORS SHOWN PROVIDING THEY S : . . 1 ©
ARE INSTALLED THE SAME AS SHOWN AT THE BASE. - : M’ INFORMAT]ON ON §
5. NsTIDE JGMB FRAME MEMBERS MA‘; BE ESTUPPOETED REITHERBYBY AD _ THIS SHEET APPLIES TO &
CONTINUOUS SIDE JAMB FRAME F—PERIMETER ANCHOR OR END- ’ ’ :
ANCHORS AS SHOWN. D o S - ELEVATIONS ON THIS g
6. ALL CONDITIONS SHOWN IN THESE ELEVATIONS SHALL APPLY TO ALL - [\ - o . - SHEET ONLY . o
JOBS. CONDITIONS DIFFERING FROM THOSE SHOWN ARE NOT PART OF ) ) A . J x
THIS PRODUCTS APPROVAL AND ARE CONSIDERED OUTSIDE THE SCOPE PLAN VIEW; - o _ - : :
OF THIS APPROVAL Ch SINGLE—SPAN CURTAIN WALL 2
o v SCALE: 1/4" = 1’0"
S5
-0
—|  VARIES WITH NUMBER OF PANELS | VARIES WITH NUMBER OF PANELS 27_-'8%@
) 57 1/2" 57 1/2" 57 1/2" - 57 1/2" 57 1/2" ) 57 1/2" - 85"
2 1/2" —{l~—  MAX. ©MAX. MAX. —  MAX. MAX. —=—2 1/2 MAX. ——f—2 1/2” o7 .Z
D.LO." D.LO. D.L.O. D.LO. D.LO. D.L.O. CEQY
2 1/2" AZ Al | H3ER
70 10 r4” MAX. Zne"
' I/ i \') Tl ] Vi ‘ K 55%2
oreosie |FE - \ EB qﬁ/ BHY e ' [ <
(DN y 7 7 K | | S ~
11 ¢ = |2
AN |1 SIDE JAMB e
| N = F—PERMETER =2
73N | \2/TNY 2 ANCHOR SCREWS - 5
WA Al WHERE SHOWN. z ®
| 7l # | SEE "ANCHOR = 32
| ' 2 . REQUIREMENTS z %Z
3] — w
I Z 1 I m TABLE” ON SHEET S E- 2
: s W lrx 3] 2B
Il [FOR END corner— I 2 3 k REQUIREMENTS. O £=85.¢
[| |ANCHOR FRAME Il 5 FRAME o JAMB o~ 50 Eue
| gHErEAI__llr-S' 5SEg MEMBER I} MEMBER % (s | 18 = ~E3a7
I S 9 Ol IsCvrerueoare Il INTERMEDIATE = MAX. O. b | L<B2®
| B FRAVE I @ FRAME “ . ¢ 21 55 2zy
| “-JAMB MEMBER Il MEMBER— > i (TP.) 2 :50. gég
FRAME n3 X
| ievser A e : 48 |0 .23
71 | Y A
| L J 1 ¢ 3=2
A o 4] £ |18 8
» A » "’0‘6* * -: Cr 5&$§%% ‘s:”
EXTERIOR ELEVATION VIEW C—C; EXTERIOR ELEVATION VIEW ."D-D"; ALTERNATE SINGLE SPAN SIDE JAMB S g “Eh |z o3
SINGLE_SPAN CURTAIN WALL SINGLE SPAN CURTAIN WALL ~ CONDITION: _CONTINUOUSLY SUPPORTED RS- S B B3
SCALE: 1/4" = 1'-0" SCALE: 1/4” = 1'=0" SCALE: 1/4” = 1'=-0" 4k 8 %‘\ié é 50'
SPANNING SIDE JAMB SHOWN. SPANNING SIDE JAMB SHOWN. Pyl ‘2 |IE =
CONTINUOUSLY SUPPORTED SIDE CONTINUOUSLY SUPPORTED SIDE P2 2ol e “*
JAMB ALSO APPLIES PER JAMB ALSO APPLIES PER R s
ALTERNATE SIDE JAMB CONDITION ALTERNATE SIDE JAMB CONDITION P a4 = E\Q
ELEVATION ON THIS SHEET. ELEVATION ON THIS SHEET. D LS
S : et DRAWING NO. | REV.
17917
SHEET NO.
4 o 16




WAR

S/6-18 X &2 — 3/8-16 X 4 1/2° — e e
HEX HEAD BOLT & SUPPORTING HEX HEAD BOLT & SUPPORTING PO [Mnens
FLAT WASHER / STEEL FLAT WASHER / STEEL N
| ; SUPPORTING STEEL .
1/2” SUP SUBSTRATE  1/2” SLIp SUBSTRATE < SUBSTRATE BY < &
WASHER\ BY OTHERS WASHER-—\ BY OTHERS OTHERS |
\ N _ N | : z
’_&\ AN e \\\\ AN D % s : EW : %
L= b EE‘ R SIT=—1 1
: — -STEEL C STEEL 1/ _ g
REINFORCEMENT = REINFORCEMENT -
: 1/2” SL|P_/ AS REQ'D A 1/2" SLIP—/ AS REQ'D \J J 9
WASHER WASHER: D | Ao .
3/8-16 LOCK. NUT 3/8-16 LOCK NUT /_@ S
& FLAT WASHER & FLAT WASHER' - y L =22,
(@] un
2, _18
L . | =334
SUPPORTING S
11/2" MIN. L1 1/2” MIN. 1 1/2" MIN. L1 172" M. STEEL SUBSTRATE CEGS
BY OTHERS : L3R
( VR ’ VR % @ HOER
| , A | 11/2" 70 a L3288
] | TOP OF SLOT 8
t @ | _E
: 2.1/4 — gl 2
174N, 3 " AR } =z
' L@y |1 1/ MN. 3" = F
9 NV | 3 s
-¢7/16” THRU HOLES AT 11/27) || ~7/16” X 3" SLOT IN ANGLE TO L L 2| 12
B ANGLE AND MULLION TO ) | | ACCEPT BOLTS. SLOT POSITION 2] o=
l ACCEPT BOLTS H | SHALL BE ALIGNED AND CENTERED Zz| 2! <
J b \ 2 | VERTICALLY WITH BOLTS UPON A
2 1/4 B SUPPORTING 2.1/4" | | | INSTALLATION. 3| B9 g%
| Jood / 2 BSTRATE I 4o odl SUPPORTING STEEL ~ | Q227
, . BY OTUERS ' , i SUBSTRATE BY OTHERS S | B g
) 1 in S~~~ Ugg
—\— Y ERZE b | L<E2®
/4,3 BOTTOM OF SLOT 1/4" N 7 | <oi”g:
/N STANDARD DEAD LOAD ANCHOR AT FH STANDARD WIND LOAD ANCHOR AT Geas o | BeE
INTERMEDIATE MEMBERS INTERMEDIATE MEMBERS 2o 25 E
SoLE: 1,3 FULL SCALE: 1/5 FULL ALTERNATE WELD DETAIL FOR WIND & DEAD |~ [£23
, LOAD ANCHORS AT INTERMEDIATE MEMBERS z |2 §
NOTE: ALL 3/8" BOLTS SCALE: 1/3 FULL SR
CONNECTING ANGLES TO i
MULLIONS SHALL BE GRADE o |8
5 STEEL OR 300 SERIES 2 i
STAINLESS STEEL. S &5
E Fu
o ;\/ v
=
DRAWING NO. {REV.
179171
SHEET NO.
S5 o 16




NOTE: ALL 3/8" BOLTS
CONNECTING ANGLES TO

STAINLESS STEEL.

MULLIONS SHALL BE GRADE
5 STEEL OR 300 SERIES

SCALE: 1/3 FULL

DRA?'VN gY CHECKED BY:
WS, W.W.S.
PLOT; 3 DAggz/w/u
SUPPORTING STEEL SUPPORTING STEEL SN\ SUPPORTING STEEL
SUBSTRATE BY OTHERS\_ __ SUBSTRATE BY OTHERS SUBSTRATE BY ¥
OTHERS
ﬁ &
/ | G R\\ / -
_—STEEL ' f i . |_—STEEL E
REINFORCEMENT S " REINFORCEMENT y ‘ &
AS REQ'D Sl AS REQ'D @ | 4
| A i
o) =2 AN . : g c
: C : &
EXTERIOR EXTERIOR 4 s J -
' 1/2" SUP 1/2" SLIP 2
_ WASHER WASHER /@ ¥
3/8-16 X 1 1/2" HEX HEAD 3/8-16 X 1 1/2” HEX HEAD—* |k ‘ ZES
MACHINE BOLT, LOCK WASHER 'MﬁCHlNE BOLT, /I_OCK WASHER ‘ .2 8un
& FLAT WASHER (DRILL & & FLAT WASHER (DRILL & | 22738
TAP THROUGH PLATE ITEM TAP THROUGH PLATE [TEM . <
#24 & FRAME MEMBER) _ #24 & FRAME MEMBER) _ ~ SUPPORTING L gn%og
1 1/2" MIN. L1 1/2” M. 11/2" MIN. d-- L1 1/2” M. e AT SEGT
ot T o T \
A\ , A I 1.1/2" T0 L2588
\ | \ | TOP OF SLOT VG g <
N \L ] T/MN. 3 | | \\ | - g
2 14| @ , 1/47]/ MIN. 2 1/4"| @ __‘@l =
[ | a a3 =l
II ; ll ©) | ll N 1/47]/ VN, 3 N s
” O
11/2" @ | 11/2 & 1 é g 83
! - $7/16” THRU HOLES , ~7/16" X 3" SLOT IN ANGLE TO 3
— | AT ANGLE AND MULLION =) /] ACCEPT BOLTS. SLOT POSITION z| 27
L I TO ACCEPT BOLTS L l SHALL BE ALIGNED AND = g g
2 1/4" | | : 2 1/4" | | -CENTERED VERTICALLY WITH 1 o eh,
‘ . ] SUPPORTING J A BOLTS UPON INSTALLATION. ol 5% gig
: / STEEL SUBSTRATE | SUPPORTING STEEL N B3 kg3
/\,-’ | BY OTHERS A~ | SUBSTRATE BY OTHERS ﬁ 5553%’%
0= - G | 11/2° 70 S—— nl H<Ezs
) 1/4 @ sorton oF S0t /7173 n| £= -2k
1!3 STANDARD DEAD LOAD ANCHOR AT TN ol Fugis
SIDE JAMB. MEMBERS FH STANDARD WIND LOAD ANCHOR AT / ' 43 [ 2
SCALE: 1/3 FULL SIDE JAMB MEMBERS ALTERNATE WELD DETAIL FOR WIND & DEAD e |53
SCALE: 1/3 FULL LOAD ANCHORS AT SIDE JAMB MEMBERS z gg%
&) o ©O

CERTIFICATION

3

WARR/EN/ // SCHAEFER, P.E
P.éf NO. 113497 "

MAR 2.0-7

DRAWING NO. R

17917

2

6

SHEET NO.

of 16




DRAWN BY: CHECKED BY:
3/8-16 X 4 1/2" 3/8-16 X 4 1/2" _vws | wws
HEX HEAD BOLT & HEX HEAD BOLT & s | MSnens
FLAT WASHER FLAT WASHER
1/2" SUP o135 ‘ 1/2" SUP 135 £
WASHER\ @_\ / WASHER——\ @\ /
\ [ ' \ | é
S [ [ "> SUPPORTING| - S 1> suPPORTING! :
o STEEL - & STEEL ‘ a
X V7728 N\ SUBSTRATE T | 777 SUBSTRATE Y
'K T | Y BY OTHERS :
L & _ T - o
1/2" SUP—/ | @/ : 1/2" SUP—/ @_/ g
WASHER . o WASHER _ )
3/8-16 LOCK' NUT = 3/8-16 LOCK NUT . . Sro
& FLAT WASHER | ' & FLAT WASHER =33
. Z3m13
: <L 10
. : QA B<C |
11/2" MIN. Ly 127 M 11/2" MIN. 1 1/2" MIN. : 22 Q.g;’
_ _ 1 A— SUPPORTING | \- SUPPORTING e E 3]
| S / STEEL SUBSTRATE A , N / STEEL SUBSTRATE HBER
! 1/47],/3 BY OTHERS ] /4|3 BY OTHERS §§%
[ R gx=
| l T §
| | | | l | 2" 70 _E
2 3/4" l ¥ 2 3/4 | | | TOP OF SLOT g 1<
J | =3 | L i 2 Iz
J | l 5 ” ’ | 2B
| 1/4°),/ MIN. 3 _ || @ | | y a1 =
| a || | ' i 1/4°|,/ MIN. 3" = S
11/2” 1 N < 11/27 I | | | - S| %3
| | | @ | | | = o
= ]
Y B It =| 2 e
. T ! k| Bt
2 3/4” | | $7/16" THRU HOLES 2340 1| I | 7/16" X 3" SLOT N || © | 22 §.§
AT ANGLE PLATE AND I ANGLE T0 ACCEPT [l ov | 28 gyl
| MULLION TO ACCEPT | ‘\ , BOLTS. SLOT = | “E 3%
: BOLTS ' S POSITION SHALL BE || & | B~ SE;
} | ; ALIGNED AND bl G<B3?
— A | CENTERED VERTICALLY|| @ | <& ~83
! /4,3 o o : 1/4']/3" | WiTH BOLTS UPON o| 8s822
’ — w O Zz 35
<1>CORNER DEAD LOAD ANCHOR v | BOTTOM OF SLOT \— INSTALLATION. 28 lo & &
. < =2
SCALE: 1/3 FULL @ CORNER WIND LOAD ANCHOR ¢ 322
: P4
NOTE: ALL 3/8" BOLTS SCALE: 1/3 FULL = |5 8
CONNECTING ANGLES TO L SRET, o
MULLIONS SHALL BE GRADE - | S iBi N g |3
5 STEEL OR 300 SERIES - s % RO EANNGTI
STAINLESS STEEL. N E RN
L ATEN : 8 5 W 2l = ne
| 505%5353 ZizdlE 2\
FOR ALTERNATE WELDING OF ?gu\iz'- iz s \(Su §p o = \g\
ANGLES TO SUBSTRATE, SEE ' . %z%_ gD Yo EN
ALTERNATE WELD DETAIL v : QQC:';{--:: Y go‘(f’:’ SRAWING NO. TREV.
ON SHEET 5. . E\x{“\fﬁm“*s 17917
SHEET NO.
7 o 16




DRA\:\IVNw BY: CHECKE[; BY:
_ N WS, WW.S.
I 17— t—* " —1 " 41/2" | | 1" 4 1/2" 1" |[FBE DATE:
| |V@ { 1" MIN. MIN, 1" MIN. MIN. MIN. “”—‘— MIN, (e
I | e & TE o |2
* ] | | 2.3/8" ,4 T-ARCHOR 2 3f/8” A2 3/4 NN .___@, —@7 2) |8
A Il YA . A A T-ANCHOR f T-ANCHOR
- B Ju B ’ e - - Y 43 * ©)-H! - @) 4 3/4" 2 3/%
~C 1 1 ¢ 2 2 3/8" | f N & MIN.
T-ANCHOR i 0 MAX. _L | 2 3/8" / : K o % z
|| | 3 — E
- T—ANCHOR i 1 /0 CONCRETE SCREW 4 1/2" MIN. i - 3/4 M. = ) g
SCREW /BOLT | 1/2" CONCR T COcE DisTANCE A e o P g
N PER ELEVAT'ON—\! gggwé?ﬁ?ﬁ% TABLE” - 2 2){{2" SCREW pa—) | — ~1/4" SCREW 8
I > EXTERIOR /—CONCRETE EDGE > P BOLT  [EXTERIOR] T 1 | OR_BOLT | :
SUBSTRATE BY SR "ANcHoR ~ SECTION "B—B” (INTO STEEL) . “ANCHOR SECTION "C—C” S
OTHERS PER SECTION "A—A ‘ (INTO CONCRETE) REQUIREMENTS SCALE: 1/4 FULL REQUIREMENTS  (ALTERNATE INTO STFEL z
'ESTAND ARD T—ANCHOR ANCHOR ~ SCALE: 1/4 FULL TABLE TABLE SCALE: 1/4 FULL 5,
. : REQUIREMENTS S : : ZES
' . SCALE: 1/4 FULL TABLE" =338,
——61/2 - 4 1/2° 1" 41/2" 7" il
) 1”_— » . 1:; n . ”
| . 1”7 MIN e a1 MIN. e "™ %553';
1 11/16” ‘ , ; = -
4 —F—1 11/16 )\A'——Z)/"' MIN. CTay
T :/_® 3 3/8" /;@cm / 3 3/8" i 5,5§(|3
I | / : 2oen
] | * 1/2" CONCRETE \// \\/ 5 E%%
' l({ “' 1 11/18" SCREW PER 1.11/18" 3/4" \ H’%
D | I D "FRAME ANCHOR A AV : : 2
- T ) g i REQUIREMENTS fwﬁ MIN. =1 ~ g
Folh ol F 2 N TABLE” 2N =L
T-ANCHOR u )i MAX. -# & 38
L I
a T_ANCHOR i T - 41/2" M. 4 1/2" MIN. 1/2" SCREW | + = -
a SCREW,/BOLT EDGE DISTANCE EDGE DISTANCE OE BOLT - 1/4" SCREW | 32
I e eomon | PER OR BOLT z| o7
ANCHOR T—ANCHOR PER T—ANCHOR << —Z‘LL 0
I REQUIREMENTS "ANCHOR = R
TABLE” REQUIREMENTS 3| 2283
' TABLE” - 2ol
. 8¥E§FTQEALEERBY XTERIOR EXTERIOR |\l EXTERIOR | "\ ; 5§ §9§1
= = X B8ET
—_ "ANCHOR 4 » » ] = Lo 58
G COF;SAELFE% 1T4A'F\JU(E}L_’OR REOLIREMENTS SECTION "E—E” (INTO STEEL) SECTION "F—F"" :‘5 b Egm
$1/ TABLE” \ | SCALE: 1/4 FULL ALTERNATE INTO STEEL 2| 5,882
SECTION “D—D” (INTO CONCRETE) SCALE: 1/4 FULL 42 |, E "3
SCALE: 1/4 FULL F— |53
&) 5.0
: 3%z
2 |5 S
o Kiw sy = 5
PR o TN - AN
- » < ™
I[él/.' .‘g: ',19 § 5 I .
E85 p P& onhdlE 182
. M v N \_\l" # = L
AE N R I %\gw
o .t I ZIgYo NZX|
ﬂm.‘= ol T Wzl N4
A ST Q0o =N
oo fE NVegs =
X :
Qﬁ‘p St Sf: LS Foemme e TR
% * -‘.: ..".(‘({V‘V 5 . EV.
b S PRl 17917
LSRR SHEET NO.
8 o 16




DRAWN BY: CHECKED BY:
W.W.S. W.W.S.
N » | » PLOT: _ mgg:/ /s
3 1/2" MN. _| *!‘4_1" 31/2" 1 31/2 , 1 | 1=t )
g I 2 EDGE DISTANCE (\/ 3 1/2 . y _ 3/4" v lg
| ] ' \@ { | 1 —
r | | ‘ | B F~ANCHOR 23/8" F—-ANCHOR 23/8 -ANCHO 2 3/4" .|B
G I(] \\I G F—ANCHOR | __'_4 CYZui— | @-—+ 14 3/4" ., ¢/
: W/BOLT Tl — . , o 118
Ho| I H SCRE ‘ ” ) e | :
SN L PER ELEVATION 2 3/8 /8" T/A,”LM!N. .
1/ i ol . r(F_A:NC:H)OR | | | X L g
L A ‘"tr, ——f— 1/2” CONCRETE 1/2" SCREW OR BOLT ‘ 1 / +* SoREW OR BOLT |z
y PER "ANCHOR SER “ANCHOR ] |
1 ; SCREW PER | ) PER AN 3
' - 4 1/2 MN - REQUIREMENTS TABLE foiyiin QR <
' EDGE DISTANCE _ ANCHOR , REQU .
oTERS PR ] R LINEMENTS . [ExEROR] | EXTERIOR] - R
e "H—H" SECTION *J=J”
"ANCHOR . SECTION "H—H" (INTO STEEL) : S o
REQUIREMENTS Neongrere TR SCALE: 174 FULL (ALTERNATE_INTO STEEL) gey
e EDCES - R - T SCALE: 1/4 FULL 228
d BER ENDS) S | =582
F-ANCHOR (FREA%%X SECTION ’6—G"_(INTO CONCRETE) 4.7
SOAL = SCALE: 1/4 FULL 223,
. OI(f)d'
=0 |
500
Hoxr~
Zoe
32

JOB INFORMATION:

NEERING &

7480 150TH COURT NORTH
PHONE: 561-744—3424

PALM BEACH GARDENS, FL 33418

1600 SYSTEM 2 CURTAIN WALL (LM.L)

CONSULTANTS
W. W. SCHAEFER ENGI

CONSULTING, P.A. (REG. NO. F—14980)

DRAWING TITLE

g

)
ox
7 B3
= -
= <L~
< T
O & O
5 i/ o
= [ =
o e =
& .
8 = =0
2
<
=
DRAWING NO. |REV.
SHEET NO.

9 or 16




DRAWN BY: CHECKED BY:
WS, W.W.S.

s s \
SEALANT | 4 S pac | 4 :
OTHERS P OTHERS— & e ] D___ o | | 5

e P e ¥ ,

SPACE  [EXTERIOR] .—\ 58) SPACE

REVISION DESCRIPTION

—
L

= M\@ﬂj o ﬁ\@\@&/%

@ I o st ]| Bt
ol = "
. ‘ Y ASEE GLAZNG | N / N-SEE GLAZINN_' \_@ |

NO.

N L

- N DETAILS ON
| gg@fsm | ' - . . || SHEET /\[14

SECTION /& | SECTION /3
SCALE: 1/2 FULL \J0/ | - SCALE: 1/2 FULL \10/

T e L
:

770—449-5555

KAWNEER COMPANY, INC.
555 GUTHRIDGE COURT
NORCROSS, GA 30092

of - g == )

05/16* | A — $5,/16"—— = v v ipi==g SN

g N = U Ly T af /*

LOCATED 2] & 388 / ®\\ n
| S 8 _

JOB INFORMATION:

3 5/8 3
- ] { ;
L [ y-ut b s 1 ~~
= 1 ] = 5
/ /- | =] 52
N—SEE GLAZING ’ SEE GLAZING (50) o
1 DETAILS ON T DETALS ON 21 z) .
m -
SHEET 14 SHEEI'I\/M ng B
; o) Z2&.%
SECTIONJ\l /B SECTION /8 SECTION /& <l 8 éf 3
SCALE: 1/2 FuLL \J0/ © SCALE: 1/2 FULL \J0/ " " SCALE: 1/2 FULL \10/ = ;é i
i y ‘ (FOR DETAIL NOT SHOWN, SEE SECTION B1/i0) UBJ b =%z
V S 8z
SEE GLAZING o <o ;§§
| DETAILS ON ol uozst
A 1 \ @ w O = '\5
N | ~SEE GLAZING DETALS \ SHEET 14 /@ 43 o £ F
. ~ 75
=== - 2 322
£ [§ S

V ON SHEET 14 ol

” l B‘ é ! £
55/16" - 85/16 } i
WEEP HOLE S WEEP HOLE y d
LOCATED )
& 12

LOCATED ) |
35/8" 49 1/2" 3 5/8 @ MAX.

FROM MAX. FROM_/\ m x : N
ENDS—/\ ) rSPACE ENDS t ¥ T SPACE . 3 : :‘ .',O §
SEALANT _/\’\mi\ - SEALIT :

BY < ®

OTHERS OTHERS 38)

)

B G B e B
CERTIFICATION

S, ",

WARREN/W. SCHAEFER, P.E.
/R/ /%.E. NO. 113497

DRAWING NO. [REV.

SUBSTRATE
SUBSTRATE
BY OTHERS SECTION /&0 BY OTHERS | SECTION /& = 15{9; 1’0
SCALE: 1/2 FULL \J0/ SCALE: 1/2 FULL \J0/ - S




CHECKED BY:
WWS. W.W.S,

7,

1/2” MINIMUM TO 1°3/8" MAXIMUM
(SEE "FREE SPAN JAMB PERIMETER
SEALANT NOTE" ON SHEET 1.)

M ]

I.__

‘SUBSTRATE
BY OTHERS

o e

. SEE GLAZING -
DETALLS ON

ANEAN

[
[
\
\_SEALANT
SECTION /BN  oficee

SCALE: 1/2 FuL \JV/
VERTICAL SIDE JAMB FRAME
MEMBER WITH NO

REINFORCEMENT
| = 14.718 IN*4
S = 3.706 N"3

SCALE: 1/2 FULL \J1L/

1/2" MINIMUM TO 1 3/8” MAXIMUM
(SEE "FREE SPAN JAMB PERIMETER ——— .
SEALANT NOTE" ON SHEET 1.)

™ A W gy

SN

SUBSTRATE.
BY OTHERS

O

20 & /)7

%4
\ V4

SEE GLAZING
DETAILS ON S - @ d
SHEq 14 LSS J %

Z )

I ~

\ :

o

SECTION /N B
SCALE: 1/2 FULL \J1/ OTHERS
VERTICAL SIDE JAMB FRAME
MEMBER_WITH REINFORCEMENT R1
| = 33.707 IN"4
S = 7.993 IN"3
(TRANSFORMED SECTION PROPERTIES IN
TERMS OF ALUMINUM)

1/2" MINIMUM TO 1 3/8" MAXIMUM
(SEE "FREE. SPAN - JAMB PERIMETER ~——

SEALANT NOTE” ON SHEET 1.)

N\ . '
95/18" WEEP - 3 ¢5/1 6" WEEP— I <
L ottt ) ﬂi @ ; Tr o HOLE LOCATED' | P~ © @ | {
3 5/8” FROM | 3 5/8” FROM b, 3
o & _ | e L
DOW 995 SEALANT—| 59 Ul () I DOW 995 SEALANT—] ’
& BACKER ROD N 1 ~" | & BACKER ROD - Lg)@)’/ e ® J )
BY OTHERS = = 1/2 BY OTHERS .7/ : = 2! 1/2"
g (19~ | MAX. @), Y ‘ MAX.
- [EXTERIOR WL % N\-SEE GLAZING \_@ N\—SEE GLAZING \@ ,
- T DETAILS ON DETAILS ON
SHEET 14 SHEET 14
J\/
SECTION /o7 SECTION /o9
SCALE: 1/2 FULL \J1/

T G
MAAVANN S: N
SUBSTRATE N
BY OTHERS

N
N
v
SEE GLAZING
DETAILS ON = M\
SHEET 14 LR
Z )
I &

&l

o

BY
SECTION /&y B

SCALE: 1/2 FULL \11/
VERTICAL SIDE JAMB FRAME

MEMBER WITH REINFORCEMENT R2

| = 40.379 IN"4
S = 9.325 IN"3

(TRANSFORMED SECTION PROPERTIES IN
TERMS OF ALUMINUM)

DATE:
=2 03/19/13

REVISION DESCRIPTION

NO.

770—-449~5555

KAWNEER COMPANY, INC.
555 GUTHRIDGE COURT
NORCROSS, GA 30092

JOB INFORMATION:

GINEERING &
FL 33418

PHONE: 561-744—3424

1600 SYSTEM 2 CURTAIN WALL (L.M.1)
7480 150TH COURT NORTH

PALM BEACH GARDENS,

W. W. SCHAEFER EN
CONSULTING, P.A. (REG. NO. F—14980)

DRAWING TITLE,
CONSULTANTS

g 2013
o

CERTIFICATION

P.E.

DRAWING NO. ] REV.

1791T

SHEET NO.

11 or 16




CHECKED BY:
W.W.S. W.W.S.

@

SEE GLAZING

SEE GLAZING : »
DETAILS ON Y- ‘)
e \ L | SHEET 14 — :
—= AN N
7 S . . N —a N
( = | i =
—< va | N—
1EXTERIOR. . | EXTERIOR |
SECTION o . SECTION T
SCALE: 1/2 FULL \J2/

SCALE: 1/2 FuLL \J12/
VERTICAL INTERMEDIATE FRAME

VERTICAL INTERMEDIATE FRAME , ‘
MEMBER WITH NO MEMBER WITH REINFORCEMENT R1
REINFORCEMENT | = 23.971 IN™4

| = 7.559 IN"4 .S = 9.059 IN"3
S = 2.635 IN"3 (TRANSFORMED SECTION PROPERTIES IN
TERMS OF ALUMINUM)

N\

I
~ N\
| N

EXTERIOR N EXTERIOR — /& |
SECTION /&1 SEE GLAZING DETAILS SECTION /& SEE GLAZING DETAILS
ON SHEET 14 SCALE: 1/2 FULL \1_2/ ON SHEET 14

SCALE: 1/2 FULL \J2/

VERTICAL CORNER/FRAME MEMBER VERTICAL CORNER/FRAME MEMBER WITH

REINFORCEMENT R3

WITH_NO_REINFORCEMENT [ o
| = 9.685 IN"4 —— NOTE: "I" & "S" VALUES ARE TAKEN | = 37.376 IN"4 NOTE: "I” & ”"S” VALUES ARE TAKEN o L

S < pomt N3 IN THE PLANE OF THE MULLION S = 10.029 IN"3 IN THE PLANE OF THE MULLION W L2l
(TRANSFORMED SECTION PROPERTIES IN TERMS OF ALUMINUM) Fou 12 of 18

AN

| R
SHEET 14 — 5
i AN
7 S
T T
AN /
N S
EXTERIOR
SECTION /=

SCALE: 1/2 FULL \J12/
VERTICAL INTERMEDIATE FRAME
MEMBER WITH REINFORCEMENT R2

H DATE:
1=2 03/19/13

| = 30.342 IN"4
S = 11.485 IN"3

(TRANSFORMED SECTION' PROPERTIES IN

TERMS OF ALUMINUM)

REVISION DESCRIPTION

NO.

DRAWING TITLE

1600 SYSTEM 2 CURTAIN WALL (L.M.1L)

770—449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

JOB INFORMATION:

NEERING &

7480 150TH COURT NORTH
PALM BEACH GARDENS, FL 33418
PHONE: 561-744-3424

W. W. SCHAEFER ENGI
CONSULTING, P.A. (REG. NO. F—14980)

CONSULTANTS

CERTIFICATION

ER, P.E.

13
NO. 113497

El I‘-:N SCHAEF|

M

2N

DRAWING NO. |REV.




CHECKED BY:
W.W.S.

1/2" MAX. SPACE - | 1 /\[
‘\ b A —— T SUBSTRATE BY SIDE JAMB F-PERIMITER ANCHOR
A I I OTHERS PER SCREW PER PER SECTION H/13 |&
SUBSTRATE BY | | P Ml » N
OTHERS PER ANCHOR '
"ANCHOR ]l H I /—@ REQUIREMENTS -
| | | 11 TN TABLE” e
REQUIREMENTS o ] %
TABLE” SEALANT | z
SIDE_JAMB O~ | { ” ” : BY ¢ : 4 5
F-PERIMETER | |~ L OTHERS N 2
ANCHOR SCREW | | ' ' 4 = _ .
PER ELEVATION 11/2" 4 RIS, | N 1_ 1/2" Iz
- | MIN. A L T T A ‘ A smék' :
- Stk 18 ‘o e .
SEE GLAZING C T G~ | hwx. 8 8 2
DETAILS ON D )) I @1 | | SPACE D = o ,
SHEET 14 * DOW 995~ i N | S N g 2ES
> SEALANT | | | NI IRV/S S I AN S — 295
7 BY | | | 1] MAX. [ \_é;\_@\_@(_x_@ zomo
a3 OTHERS || | | T s iy | . | T8s?
T |\ = - R Ll ] A AL | SECTION A-A SE ¢
— 2 By 1 (CONTINUOUS F—PERIMETER ANCHOR JAMB CONDITION) =3
O u EXTERIOR } | / 90 (FOR DETAIL NOT SHOWN, SEE SECTION H/13) ﬁa%g
/ o \ T | z gnz
L ‘ | 8
EXTERIOR] \_gga ANT w65 1 ' ,\ g
SECTION /iy &Y . sewant i | 5 =R
SCALE: 1/2 FulL \13/ BY ; [1/2 § g 38
OTHERS 1/2 = N g =
” H I MAX' Q 1 AN 31 j 8
U | < )
L - o\ e \0 ‘@ |5
SECTION B B 2 %I %
SPLICE JOINT DETA (STANDARD JAMB CONDITION) 3| ¥SE7%:
(FOR DETAIL NOT SHOWN, SEE SECTION C1/11, C2/11 & C3/11) e
g
o p—0og .l
=] W, z33
0 Ll.b<- Sz
EXTERIOR & %CL. : T
.8 |, 723
| Al et
< 2>
- ( QJ = 33
— 2 & g ST s
g 0 - K [T 3& % o~ o~
g N\ PR D) N &3
> = 7o e A 1= -
gy I : %'-"\3 £ 1o N Sd
AN 105 pif ] = o2
' ut ﬁ«v\“’g) zi<y g = 2
N SECTION C—C %%:__ P SERRsHCRl & N
(INTERMEDIATE CONDITION) ~ % SRR g
(FOR DETAL NOT SHOWN, SEE SECTION F1/12, F2/12 & F3/12) EXTERIOR SECTION C—C SPER SR =S
. | (CORNER CONDITION) AT R AN SC aor
> qk AR 3 :()?\v.J‘_ﬁ G NO. |REV.
(FOR DETAIL NOT SHOWN, SEE SECTION G1/12 & 62/12) e F R 1791T
PR e SHEET NO.

2 DATE:
1=2 03/19/13

13 o 16




CHECKED BY:

W.W.S.

‘J

SEE GLASS OPTION
ON THIS SHEET

| SEE GLASS OPTION
ON THIS SHEET

3/4” MIN. BITE

f

BOOON

EXTERIOR

DOW 995 SEALANT
& BACKER ROD

BY OTHERS

DOW 995 OR 983
/ B DOW 995 OR 983
ﬁ' - 3/4” MIN. BITE ﬂ" /
K== N .
— SETTING BLOCK AS _7 ‘ ¥
9 REQ'D - EXTERIOR SETTING BLOCK AS L
39) . ' ' REQ'D. : '
_ ' 4 : : 0 DOW 995 &
! ' o ' OR 983
J {—
TYPICAL GLAZING DETAIL TO SIDE —30), |
JAMB & HORIZONTAL FRAMING , _ \_@ -
~ S 40 4 ' _ SEE GLASS OPTION
1/4” X 5/8" DOW 995 OR 983 ON THIS SHEET
TYPICAL GLAZING DETAIL TO DOW 995 SEALANT 1” MIN. BITE
SPLICE _JOINT FRAMING & BACKER ROD
BY OTHERS
TYPICAL GLAZING DETAIL TO
VERTICAL INTERMEDIATE FRAMING
GLASS OPTIONS:
y OPTION 1: 1 5/16" THICK .G LAMINATED GLASS (1/4” HT. ST. OR TEMPERED
EXTERIOR; 1/2" AR SPACE; 1/4” HT. ST./0.100” SOLUTIA SAFLEX HP/1/4” HT.
ST. INTERIOR)
NOTE: EXTERIOR GLASS PANE OF I.G. GLAZING SHALL BE TEMPERED WHEN
CURTAIN WALL GLASS IS INSTALLED IN A SMALL MISSILE IMPACT LOCATION OF A
BUILDING OR WHEN GLASS IS REQUIRED TO BE SAFETY GLAZED.
DOW 995
OR 983
L SEE GLASS OPTION
ON THIS SHEET
i q‘.‘\\\‘&:i,\g
1 11/16” MIN. BITE » - % 93
EXTERIOR / ' S T 5 ‘9
- . .. -
~ vo. M .
TYPICAL GLAZING DETAIL TO ;AZ“ 35' |
CORNER FRAMING Al RS R:
- Fu_- {w’»-‘-'l{ . o)
ASH ) NS
t}w‘-_ v tEL S
A LEL
W P gL
“E‘;; k3 E > 1:‘ -

DATE:
1=2 03/18/13

DATE

REVISION DESCRIPTION

NO.

770—-449-5555

555 GUTHRIDGE COURT
NORCROSS, GA 30092

KAWNEER COMPANY, INC.

JOB INFORMATION:

INEERING &

7480 150TH COURT NORTH
PHONE: 561-744-3424

PALM BEACH GARDENS, FL 33418

1600 SYSTEM 2 CURTAIN WALL (LML)

W. W. SCHAEFER ENG
CONSULTING, P.A. (REG. NO., F—14980)

DRAWING TITLE
CONSULTANTS

SCHAEFER, P.E.
. NO. 113497

CERTIFICATION
W,
E

?WPy
¢/

DRAWING NO. [REV.

17917

SHEET NO.

14 o 16




b I I DRA\;WIVNW ;IY: CHE(\:HK\SDS BY:
, 7.599 [ PLOT:.I::.Z : DAg.'sE};S./;J
S 1
0.125 2500 =) I 2.500 2.479 0.110 W 1.1125 J y
| | . | . (3) EEMALE HALF EXPANSION HORIZONTAL 3
l 0.100 —i 0.100 —1 ’ 7.663 é
| 5.250 _ 5.250 | 5.250 : . o1 [E
_ —— 6515 6.515 6.515 — i
o HEAD & SILL HORIZONTAL FRAMING SID G OR ST/ o LTERNATE HORIZO MEDATE . | | | | 2|
© | HORIZONTAL INTERMEDIATE MEMBER ‘MEMBE_R S c238 L |8
— z.s.oo{ — 2500 » | 0.125 — = |-
» T | /\ ~— 2.500 — )
7 | / _ _ | . SES
0.220 | -20125}-! _ | 2Es
' 2883
, : 2.500 —{ | . , 2. 8
2.458 | ‘ T "— 2.500 —] 0.847 £33,
' ' 0.86 F .3
—{t——0.080 02 0.100 | SEy3
_ ' 0.100 =584
5.250 I 1 HOER
—{l~—0.100 5.472 - Bt (9) PRESSUR ==
| ' | (7) CORNER MULLION COVER - , g S92
| 4520 ——— 0.155 | (17) PRESSURE_PLATE £
_ 4396 ————l 0.125 —T | :,r: -y I
0100 [ = | F——— 4350 _ =
Y f ';(g 0.160 1 —{}—0.125 ——{ 3|3
1.375 " 0.125 0070 2270 0.125 3 0875 o [ ~
| LENGTH = 1.562" O- LENGTH = 1.562” LENGTH = 1.562" 2| @
(5) VERTICAL MULLION — _ , | 48
M LENGTH = 3.125 2
| = 755974 | (15) SHEAR_BLOCK (HORIZONTA| o
S = 563573 SHEAR BLOCK (HORIZONTAL FRAMING —J — EXPANSION MULLION TO z| 27
= 2. — 1 <) Zu o
10 VERTICAL MULLIO () SHEAR_BLOCK_(STANDARD EAR BLOC STANDARD VERTICAL MULLION) Bl &5 .5
| © ™ HORIZONTAL TO VERTICAL (HORIZONTAL ERAMING - 3| £2E s
= J. % . = Od:;
- S = 285173 | 4760 ————] UL o TOCORNER MULION) ~ | 26 gal
1.500 |' | ~ : ’7 2.500 — = | Tx38h
. ’ X~ Cg ~
- T & | Zo 288
F J 0.750 0.125 2.270 L1 J 0.504  0.050 —=— O 1.000 o 3888
—|— 0125 LENGTH = 4.250" f - Ef 0 - 20 o5 B
PRESSURE PLATE COVER : _{ R B
SHEAR BLOCK (HORIZONTAL EXPANSION LENGTH = 6.500" 1 . 1.000 s [522
ULLION TQ CO MULL (17) YERTICAL MULLION SPLICE SLEEVE JOINT PLUG USED WITH g |18 8
| L.G. GLASS SYSTEMS ey
A N 1 - SR S e
/ EXPANSION HORIZONTAL S Rl --.{1//0 = e
MULLION COVER s NG T
s : % :on8 B2
Pl 15 s vl <
oo g io: 3 2R a9
3.250 —l—0.125 3.250 —~{l—0.125 fulSdd 519 SR \;;
- g > T T O fidE é\/ d
0.250 0.250 %\9‘: 4 TR §\5
LENGTH = 4.750" : LENGTH = 4.750" . 0¥ %, HEE I £
) J J big., 1< fenOL B =
f ‘ )I W T T e T TR,
8.500 8.000 IT ‘ B 17917
(21) T=ANCHOR (22) E-ANCHOR - 1§str No.1 5
: OF




TEM 4 TEM DESCRIPTION MANUFACTURER/NOTES TEM # ITEM DESCRIPTION MANUFACTURER /NOTES e
PARTS FASTENERS P [Poens
1 [HEAD & SILL HORIZONTAL FRAMING 6063—16_ALUMINUM 49 [1/4 X 1° HWHTF TYPE AB_SCREW 300 SERIES S.S.]WITHIN 3" FROM ENDS & 9" MAX. O.C.
2A |SIDE FRAMING OR STANDARD HORIZONTAL 6063—T6 ALUMINUM 50 |1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9” FROM ENDS & 9” MAX. O.C. 5
~|INTERMEDIATE . MEMBER 51 |NO. 10 X 3/8" FHTFS 300 SERIES S.S. 1_PER JOINT PLUG
2B |ALTERNATE HORIZONTAL INTERMEDIATE MEMBER 6063-16_ALUMINUM 52 |10-16 X 1 1/4" FHSDS 300 SERIES S.S. 1_PER VERTICAL MULLION SPLICE SLEEVE 5
3 |FEMALE HALF EXPANSION HORIZONTAL 6063—16 ALUMINUM 53 |NO. 12 X 1° PHIFS 300 SERES SS. 1 PER VERTICAL MULLION SPLICE SLEEVE
4 |MALE HALF EXPANSION HORIZONTAL 6063—16 ALUMINUM " 54 |NO. 12 X _1° PHIFS 300 SERIES S.S. 2 ABOVE SPLICE; WITHIN 3" OF END 3" 0C. |3
5 |VERTICAL MULLION | 6063—16 ALUMINUM 55 |1/4-20 X 2" FNTCS 300 SERIES S.S. WITHIN 9" FROM ENDS & 24" MAX. O.C. 3
6 |CORNER MULLION 6063—16_ALUMINUM 56 |NO. 12 X 1 7/8 PHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK . 2
7 |CORNER MULLION COVER 6063-16 ALUMINUM 57 |NO. 12 X 7/8” FHIFS 300 SERIES S.S. 2 PER SHEAR BLOCK 1=
"8 |PRESSURE_PLATE 6063—T6_ALUMINUM 58 - |NO. 12 X 7/16° PHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK 2
9 |PRESSURE PLATE 6063—16_ALUMINUM 59 |NO. 12 X 1/2° FHTFS 300 SERIES S.S. 2 PER SHEAR BLOCK 2
10 |PRESSURE PLATE 6063—T16_ALUMINUM T80 |NO. 12 X 1/2° FHTFS 300 SERIES S.S. 4 PER SHEAR BLOCK 5
11 |PRESSURE PLATE 6063—16_ALUMINUM 61 |NO. 10 X 5/8 FHIF 300 SERIES S.S. 6 PER PLATE =
12 |SHEAR BLOCK (HORIZONTAL FRAMING TO | 6063—T6 ALUMINUM - . ~ N
_ |STANDARD VERTICAL MULLION) ) I | ZxQ
15 |SHEAR BLOCK (STANDARD HORIZONTAL TO 606376 ALUMINUM | | 3.000 »8R13
. |STANDARD VERTICAL MULLION) - 0.375 — 2.250 — 0.375 [ 0.0%0 Tw B
14 |SHEAR BLOCK (HORIZONTAL FRAMING TO 6063—16 ALUMINUM 0.125 — |~ N 2 i : 1 gﬁ%og'
CORNER MULLION) ~ §375 o | CEgY
75 |SHEAR BLOCK (HORIZONTAL EXPANSION MULLION [ 6063~T6 ALUMINUM e ous, || 4000 D S2 (29) ALTERNATE_HORIZONTAL INTERMEDIATE E380
7O STANDARD VERTICAL MULLION) MEMBER COVER 2.,8"
75 [SHEAR BLOCK (HORIZONTAL EXPANSION MULLION | 6063~T6 ALUMINUM = 0.187 — |— , 262
70 CORNER MULLION) » | 2125 -1 5
17 |VERTICAL MULLION SPLICE SLEEVE 6063—T16_ALUMINUM N 3
18 |PRESSURE PLATE COVER 6063—16 ALUMINUM — o o | 500 0,031 —— g i
19 |EXPANSION HORIZONTAL MULLION COVER 6063-T6_ALUMINUM —f 1125 [ ' 2.281 zls
20 |JOINT PLUG 6063-T6 ALUMINUM =
21 |T—ANCHOR 5063-T6 ALUMINUM (29) E=PERIMETER ANCHOR ' _ =
22 |F—ANCHOR 5063—T16_ALUMINUM 150 _+ -— ) | 29
23 |F—PERIMETER ANCHOR 6063—T6 ALUMINUM : LENGTH = 2.500 z| o7
24 |ANCHOR PLATE 6063—T16_ALUMINUM @ 2 > D (26) COVER SPLICE = - 3
25 |ALTERNATE HORIZONTAL INTERMEDIATE 606316 ALUMINUM - 0'3175 AR
MEMBER COVER ANCHOR PLATE 0.615 ~ | 2a -or
26 |COVER SPLICE 5005 H32 ALUMINUM W ose 3/16" THICK : S| 58k
29 |MULLION REINFORCEMENT ASTM ‘A1011 GRADE 50 STEEL 0.345 - ol Wade
30 |MULLION REINFORCEMENT ASTM A1011 GRADE 50 STEEL 4.560 ‘4 500 — 1250 == 0.092 ol 5< %53
31 |CORNER MULLION REINFORCEMENT ASTM A36 STEEL : — IR | £0 758
34 |5 X 3 X 3/8 X 6 LONG ANGLE 50 KS| STEEL H <) ? 0) o630 S| BEEST
35 |8 X 3" X 3/8 X 6 LONG BENT PLATE 50 KS| STEEL E2 g xh €
» SEALS & SEALANTS 4 g I_—L e 523
38_ | FIXED GASKET | TREMCO TR4726P EPDM DUROMETER 70 +/-5 4 0164 == 0.292 | : [275
39 | THERMAL SEPERATOR TREMCO TR—4015P EPDM _DUROMETER 60 +/-5 (775D 3810 EXTERIOR GLATING EXED  |P—l—
40 |EXTERIOR GLAZING FIXED GASKET TREMCO TR—4014P_EPDM_DUROMETER 60 +/-5 MULLION REINFORCEMENT o 4.500 \ GASKET u
41 |WEDGE GLAZING GASKET TREMCO TR—4873S SILICONE DUROMETER 70 +/-5 || = 5667 IN*4 | S
22 |5/16° X _7/16°_GLAZING TAPE NORTON V2100 FOAM OR TREMCO 920 S = 2485 IN*3 \ z E3
43 |1/4" X 1" _GLAZING TAPE NORTON V2100 FOAM. OR TREMCO 920 - £ e
44 |3/16" X 2 1/4" SHM PLASTIC, STTEL OR ALUMINUM : y I g9
45 |STEEL TO ALUMINUM SEPERATOR THERMO—TOK_TN—9004 VULLION REINFORGEMENT i %:\ S
| | = 2.208 IN“4 A g
S = 1.159 IN"3 (37) CORNER MULLION . . S
BEIMRQEMEM ~0r pd
| = 9.492 ]NA4 ," ) N DRAWING NO. |REV.
S = 4219 IN°3 =00 1;?;1_0

16 or 16




